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Feasibility ∝ c-Feasibility, With log-scale Glasses

ℓlog(ℓ)
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When is Feasibility Decidable in Poly. Time?

1 If deadlines are implicit. [Liu & Layland, 1973]

2 If deadlines are constrained and periods are harmonic.
[Bonifaci et al., 2013]

3 If U(T) ⩽ c < 1 and max period
min period ⩽ q(n).
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Conclusion

General case
Utilization

bounded by a
constant c,
0 < c < 1

Asynchronous
periodic

Synchronous
periodic

(or sporadic)

Strongly
coNP-complete

Strongly
coNP-complete

Strongly
coNP-complete

Weakly
coNP-complete
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∀Thank you!
⋄

∃Questions?
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